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(Read and match.
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[image: image1.png][image: image2.png]( They usually wear shorts and a T-shirt because they get very hot and because these clothes are easy to move in. But the most important thing to wear is comfortable shoes.
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 ( His uniform is a T-shirt and shorts. He also wears leather gloves because he has to catch the ball. He has got long cotton socks and he wears leather boots.
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 ( He wears cotton trousers with pockets and a belt. His jumper is made of wool. He also wears leather shoes and a cap. His uniform is light because he walks a lot.
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 ( His uniform is very big and heavy. He wears the colours of his team. He skates very fast on the ice and his uniform helps to protect him. He has to wear a helmet and thick gloves.

[image: image12.png]


 ( He has got very soft warm clothes. He wears gloves because it is cold in the mountains. He also wears a helmet because his hobby can be dangerous.
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 ( She wears a skirt and tights. Her uniform hasn’t got any pockets because she doesn’t carry anything. Her clothes are thin and light because she moves a lot.


(     Listen and tick (() or cross (().

 

  Mark          / 10
( It might not be a friend outside the door.


( She may not have gloves.





( She might be unhappy.




( He may be with a friend. 



( He might be thirsty.




( She may be bored.
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